shrink factor

shrink factor

3.5

2.5

15

median
97.5%

4000 6000 8000 10000
last iteration in chain
alphaN
«© _| |
— ‘. median
n ---- 97.5%
A
— \
o \«A ........ e
~ | | | | |
0 2000 4000 6000 8000 10000

last iteration in chain



-720 -680 -640

=760

20 30 40

10

Trace of Ip__

2000 4000 6000 8000

Iterations

Trace of alphaN

0

2000 4000 6000 8000

Iterations

0.010 0.020

0.000

0.04 0.08

0.00

Density of Ip___

I I I I I I I
-760 =720 -680 -640

N = 10000 Bandwidth =2.201

Density of alphaN

I I I I I
0 10 20 30 40

N = 10000 Bandwidth = 0.5858




shrink factor shrink factor

shrink factor

1.00 1.08

1.00 1.20

1.25

1.00

alpha0[2]

last iteration in chain

alpha0[3]

5000 10000

last iteration in chain

alphaO[4]

5000 10000

last iteration in chain




Trace of alphaO[1]

0 5000

10000 15000

Iterations

Trace of alpha0[2]

0 5000

10000 15000

Iterations

Trace of alphaO[3]

©
[S)
o
o
0 5000 10000 15000
Iterations
Trace of alphaO[4]
©
o
o
o
0 5000 10000 15000
Iterations

0 40 100

02 46

0 40 100

Density of alphaO[1]

T T T T T
0.0 0.2 0.4 0.6 0.8

N = 15000 Bandwidth = 0.003331

Density of alpha0O[2]

0.0 0.2 0.4 0.6 0.8

N = 15000 Bandwidth = 0.03534

Density of alphaQ[3]

1.0

0.0 0.2

N = 15000 Bandwidth = 0.03037

Density of alphaO[4]

T T T T T
0.0 0.2 0.4 0.6 0.8

N = 15000 Bandwidth = 0.003095



shrink factor shrink factor shrink factor

shrink factor

1.25

1.00

1.3

1.0

1.00 1.08

1.15

1.00

muO[1]

E Y — median
. ' --- 97.5%
= T = T T
0 5000 10000 15000
last iteration in chain
muO[2]
- \
— Y —— median
- | --- 97.5%
_ o
T T T
0 5000 10000 15000
last iteration in chain
muO[3]
— \
] Y —— median
- | --- 97.5%
T = T T T
0 5000 10000 15000
last iteration in chain
muO[4]
] \
1 — median
i | --- 97.5%
\\ - = -
T T T T
0 5000 10000 15000

last iteration in chain




0

-4000

-2500 0

0 1500

3000

0

Trace of muQ[1]

5000 10000 15000

Iterations

Trace of muQ[2]

5000 10000 15000

Iterations

Trace of muQ[3]

5000 10000 15000

Iterations

Trace of muQ[4]

5000 10000 15000

Iterations

0.0000 0.0014

0.0 15

0.0 0.6

0.0015

0.0000

Density of muO[1]

-4000

! ! !
-3000 -2000 -1000

N =15000 Bandwidth = 84.15

Density of mu0[2]

0

-2500 -2000 -1500 -1000 -500

N = 15000 Bandwidth = 0.08455

Density of muQ[3]

0

! ! ! !
500 1000 1500 2000

N =15000 Bandwidth =0.1501

Density of muO[4]

2500

0

1000 2000 3000 4000

N = 15000 Bandwidth =83




shrink factor shrink factor shrink factor

shrink factor

1.00 1.06

1.4

1.0

1.3

1.0

1.0 1.2

betaO[1]

0 5000 10000 15000
last iteration in chain
beta0[2]
] \
- Y — median
. ' --- 97.5%
T T T
0 5000 10000 15000
last iteration in chain
betaO[3]
\
n Y —— median
- | --- 97.5%
— V-
- 1 T T
0 5000 10000 15000
last iteration in chain
betaO[4]
\
7 Y — median
N ' --- 97.5%
= T T T
0 5000 10000 15000

last iteration in chain




Trace of betaO[1]

0 5000 10000 15000

Iterations

Trace of beta0O[2]

o
<
o
N
o
0 5000 10000 15000
Iterations
Trace of betaO[3]
o
[90]
n
—
o
0 5000 10000 15000
Iterations

Trace of betaO[4]

0 5000 10000 15000

Iterations

0.0 0.6

0.0 15

0.0 0.8

0.0 04

Density of betaO[1]

T T T T
10 20 30 40

N = 15000 Bandwidth = 0.09844

Density of beta0[2]

50

T T T
10 20 30

N =15000 Bandwidth =0.0398

Density of betaO[3]

40

5 10 15 20 25

N =15000 Bandwidth =0.0454

Density of betaO[4]

30

T T T T
10 20 30 40

N =15000 Bandwidth =0.09531

T
50



shrink factor shrink factor shrink factor

shrink factor

1.06

1.00

1.06

1.00

1.04

1.00

1.0 13

tauO[1]

— Y —— median
-1 ' --- 97.5%
— T e I T
0 5000 10000 15000
last iteration in chain
tau0[2]
] N
_ S —— median
i ,/\ . --- 97.5%
/ ~ D e = - o e e = e - = -
T T T
0 5000 10000 15000
last iteration in chain
tau0[3]
— \
7] Y —— median
l Yol --- 97.5%
= —_— = T —
0 5000 10000 15000
last iteration in chain
tauO[4]
] \
- Y —— median
] ‘\\A --- 97.5%
= T T T
0 5000 10000 15000

last iteration in chain




Trace of tauO[1] Density of tauO[1]

o
N
o -
o
[T — —
o I I I I
0 5000 10000 15000 -4 -2 0 2
Iterations N =15000 Bandwidth =0.1503
Trace of tau0[2] Density of tau0[2]
-
o ]
o ]
I I I I o I I I I I
0 5000 10000 15000 -4 -2 0 2 4
Iterations N =15000 Bandwidth =0.1519
Trace of tauQ[3] Density of tauQ[3]
o
o —
o ]
o I I I I I
0 5000 10000 15000 -4 -2 0 2 4
Iterations N =15000 Bandwidth =0.1421
Trace of tau0O[4] Density of tau0[4]
-
S ]
o] _
I I I I o I I I I I
0 5000 10000 15000 -4 -2 0 2 4

Iterations N =15000 Bandwidth =0.1079



shrink factor shrink factor shrink factor

shrink factor

1.6

1.00 1.15 1.0

1.0 13

1.00 1.15

gammao[1]

] Y — median
— | --- 97.5%
T T T
0 5000 10000 15000
last iteration in chain
gamma0[2]
_ \
N — median
_ VN --- 97.5%
PP
-T T T
0 5000 10000 15000
last iteration in chain
gammaoO[3]
—] \
] Y —— median
l | --- 97.5%
T T T
0 5000 10000 15000
last iteration in chain
gammaO[4]
| \
. Y —— median
T T T
0 5000 10000 15000

last iteration in chain




Trace of gamma0[1]

o
©
o
™
o
0 5000 10000 15000
Iterations
Trace of gamma0[2]
o
o™
n
—
o
0 5000 10000 15000
Iterations

Trace of gamma0[3]

0 5000 10000 15000

Iterations

Trace of gamma0[4]

30 60

0

0 5000 10000 15000

Iterations

0.0 04

0.0 0.6

0.0 0.6

0.0 0.3

Density of gamma0[1]

T
10

T T T T
20 30 40 50

N = 15000 Bandwidth = 0.09227

Density of gamma0[2]

T
60

T T T T
10 15 20 25

T
30

N = 15000 Bandwidth =0.05607

Density of gamma0[3]

T
35

10 20 30

T
40

N = 15000 Bandwidth = 0.05876

Density of gammaO0[4]

T
10

T T T
20 30 40

N =15000 Bandwidth =0.105

T
50

60



